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Measuring the width and
length of cells.
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Measuring width and length using micrometers

1mm =1000 pm
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To convert mm to um, you need to
multiply the number by 1000.

To convert um to mm, you need
to divide the number by 1000.

X 1000

M —
+1000
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Converting the units
The point to remember is 1 mm =1000 um.
1 mm = 1000 um

2mm = Jm

3.4MmMm = Jm
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Converting the units

The point to remember is 1 mm =1000 um.

1 mm = 1000 um
2mm = 2000 U m

3.4mm =_3400

U

To convert mm to
MM, you heed to
multiply the
number by 1000.
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Converting the units from pm to mm

X 1000

M —
+1000

I mm = 1000 um

mMmMm =100 um
MmMm =50 um
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Converting the units from pm to mm

X 1000

M —
+1000

I mm = 1000 um

O.1 mMmMm =100 um
0.05 mm =50 pum

| &



Expressing large numbers.
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Expressing numbers in standard form

We have learnt that T mm = 1000 pm.

SO, 100MmMm = 7 Um

100 x 1000 = 100,000um

We can express 100,000um in standard form.
100,000uM =1 X 10° um
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Order of magnitude and standard form
10 =10

100 =10 x 10 =104

1000 =10 x10 x10 =10°

100,000umM =10 x10 x10 x10 x10 = 10°um
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Order of magnitude and standard form

Express 300,000um IN standard form.

Express 70,000um In standard form.
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Order of magnitude and standard form

Express 300,000um IN standard form.
300,000uM =3 x 100,000um

= 3 x 10 Xx10 X10 x10 X10 = 3 x 10°um

Express 70,000um In standard form.

70,000umM =7 X 10,000pum
=7 x 10 x10 x10 x10 = 7 x 10%um
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Order of magnitude and standard form

Let's try these two questions together:

1. Express 35mm in um. Make sure your answer iIs In standard
form.

2. Express 90mm In um. Make sure your answer Is In standard
form.
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Order of magnitude and standard form

Let's try these two questions together:

1. Express 35mm in um. Make sure your answer iIs In standard

form. 35mm =35 x 1000um = 35,000um
35,000um = 3.5 x 10,000= 3.5 x 10 x10 x10 x10 = 3.5 x 10“ um

2. Express 90mm In um. Make sure your answer Is In standard

form.  9omm =90 x 1000um = 90,000um
90,000um =9 x 10,000= 9 x 10 x10 x10 x10 = 9 x 10* um
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Quick concept check:

Express the following in standard form

X 1000

mm =
a) 1000 um
b) 500,000 um
c)e6mm=_7__ um

dOoO5mm=_72__um

UM
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Answers to quick concept check:

Express the following in standard form

a) 1000 um
b) 500,000 um
c)e6mm=_7__ um

dOoO5mm=_72__um

1x10° um

5 x10° um

6 x10° um

5 x10%2 um
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Expressing small numbers using
standard form
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Using standard form to express
small numbers

There is a cell of 0.00001 um.

We can also express this in standard form.

0.00001 pm =1 x 10>um
\JVUUVWJ
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Using standard form to express
small numbers

There is a cell of 0.0005 mm.
Express the above in standard form.

There Is a cell of 0.007 um.
Express the above in standard form.
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Using standard form to express
small numbers

There is a cell of 0.0005 mm.
Express the above in standard form.

0.0005 mm =5 x 10*mm
UOuu

There Is a cell of 0.007 um.
Express the above in standard form.

0.007 um =7 x10°mm
vuv
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Independent practice

Express the following measurements in standard form.

1. 329,000um = Um
2.0.0003um = Um

3. 0.0045um = Um
4,95 mMm = Um

5. 0.00007mMm = Um
6. 256,000um = mm
/. 0.00034mMm = Um
8. 183,000 um = mm
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Independent practice

Express the following measurements in standard form.

ANsSwers:
1. 329,000pm = MM 1. 3.29 x 10° um
2.0.0003um = um 2. 3x10%um
3. 0.0045um = vlpg 3. 4.5x103um
4. 95 mMmMm = Um 4. 95x10°um
5.0.00007/mMm = Uum 5. 7x102um
6. 256,000um = MM 6. 256 x102mm
/. 0.00034mMm = Uim 7. 3.4 x 107 um
8. 183,000 um = MM 8. 1.38 x 10°2mm
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